
I. Trish buys a 154-strike European call on Asset A and sells ( or writes) a 118-strike European call on Asset B.
Coincidentally, it turns out that the spot price at expiration of both assets is $138. What is Trish's total payoff 
from the two options? [12 #05] 
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2. Steve buys a 134-strike European call on Asset A and sells (or writes) a 110-strike European call on Asset B.
Coincidentally, it turns out that the spot price at expiration of both assets is S. Steve's total payoff under the two
options is -10. Determine S. [12 #06] 

@] 120 B) 110.5 C) 115 D) 125 E) 129.5
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